Study guide   PHI 101    Final Exam
I.  Be familiar with the following concepts.

Ressentiment – a reassignment of the pain that accompanies a sense of one's own inferiority/failure onto an external scapegoat; creates illusion of an enemy, slave morality

bad conscience – helps perpetuate weakness in other individuals; is bad in Nietzsche’s eyes


epistemic responsibilism – taking into account the social aspect of knowledge and ethics ???
Evil genius – Descartes thought experiment, you don’t know if everything is real or if someone is controlling what you think

method of systematic doubt – Descartes, nothing is for certain, take nothing for granted because nothing is actually known

Epistemology – branch of philosophy that studies knowledge
Metaphysics – the branch of philosophy investigating principles of reality transcending those of any particular science

philosophy of mind – branch of philosophy that studies mind in relation to body and thoughts
foundationalism – everything is broken down into basic beliefs
Coherentism – opposes foundationalism, if a belief is compatible with all other beliefs it is true
epistemic reliabilism – if you a belief it is only true if you have some sort of logical justification for it ???
social contract – being within state that is your consent to uphold those laws
II.  Be able to answer the following questions or to address the following issues.

1.  Be able to explain Descartes’ dualism, and problems associated with the arguments he makes in favor of dualism.  Be sure to incorporate the concepts of “monism”, “idealism”, the principle of indiscernability of identicals, and “category mistake” into your response, and to explain what each means.  
The mind and body have different properties and therefore mind is separate from the body. Descartes could imagine himself without a body but not without a mind. However his dualism does not explain how there are material bodily reactions to an immaterial mind. Descartes idealism is that the only thing that is certain is that we exist because our minds exist. Everything else is just our own perceptions therefore they can be doubted. The principle of indescernability of identicals is that Descartes can give separate properties to both mind and body therefore they are not identicals. Category mistake – he is assigning properties to the mind when we are unsure about everything in the mind.
2.  What is the Identity Theory of Mind?  How is it different than Cartesian dualism?  To what does the phrase “multiple realizability” refer, and how does multiple realizability pose a problem for the Identity Theory?  Explain thoroughly.
Mental states are embodied into physical states. Mind is a representation of the physical states. It is different from Cartesian because it is saying that mind and body are correlated. GO MORE IN DEPTH. Multiple Realizability is the thesis that the same mental property, state, or event can be implemented by different physical properties, states or events.
3.  What is functionalism?  Is functionalism a materialist thesis?  Be able to explain how the Chinese Room thought experiment poses a problem for the claims of functionalists, and how Lewis’s Pained Madman also poses a problem for the claims of functionalists.  Explain to what the terms “chauvinism” and “liberalism” refer in this context.  
Functionalism says that every mental state is defined by its material causes and results. Therefore it is a materialist thesis. A computer uses and applies Chinese so well that a Chinese person speaking to it believes he or she is speaking to a real person. The computer is fed the answers but does not understand them and therefore the computer does not really have mental states. Functionalists would think they do have mental states because there is a material result when you interact with the computer, however the computer does not have a mind and does not actually understand Chinese. There is a madman that is being hurt but is not reacting the same way a normal person may act but is still feeling pain. Functionalists would believe that this person does not have a mind because he is not reacting physically, when in fact he does have a mind.
CHAUVINISM AND LIBERALISM… To functionalists the computer is said to have a mind but all it can do is follow instructions, like a chauvinist would impose their will, and liberalists believe that they have some sort of free will.
4. How does Descartes account for epistemic error?


He says that our perceptions can deceive us and do not necessarily have to be true.
5. What is the Cartesian Circle?  
He says that because he can clearly and distinctly perceive God, he exists, but he also says that God allows his perception to be clear and distinct. He is saying the God exists because it is a clear perception but goes on to say that his clear perception exists because God exists, which is circular logic.
6.  Why does Nietzsche think that the necessity of providing reasons for legitimating actions is a direct (and negative) response to the psychological space created by slave morality?

Nietzsche believes that those who are weak and those who are strong deserve the positions they are in. Legitimizing your actions is a sign that you pity others, which in turn makes you weak because you are diminishing your own strength which is wrong in the eyes of Nietzsche. Slave morality is helping those who need help, and when you pity those people your actions will reflect that but diminish your own strength.
7.  What is Nietzsche’s normative thesis regarding the values mankind should be valuing, and why? In answering this question, be sure to explain to what, according to Nietzsche, the terms “good” and “bad” originally referred, how it is that the meanings of these terms have come to be ‘reversed (and from where the more severe and complicated notion of ‘evil’ derives), and explain the notions of “slave morality” and “master morality”.
Mankind should value power because it is natural human instinct to value these things. Good is equivalent to powerful and so the powerful define what is good. Therefore the manifestation of power and all that encompasses it is the good. The inferior came up with the term evil for those in power and therefore they are the real bad because they feel jealousy and oppression (negative feelings). Master morality is based on consequences, what the good/superior believe. Slave morality is based on intentions, what the bad/inferior believe – this is ressentiment.
8.  Explain Nietzsche’s claim in Essay III of the Geneaology of Morals that the ascetic ideal is another way that humans give meaning to the suffering of their lives, and clarify the role the ascetic ideal plays in his theory of the origin of morality.  Be sure to explain how ‘slave morality’, the ‘will to power’, suffering, guilt, philosophers and priests are all connected to the ascetic ideal.  

Because people who are inferior feel ressentiment they created the ascetic ideal to justify their lives and to give their lives meaning. The ascetic ideal is a way of living without actually living; it is the opposite of seeking power and this is why Nietzsche says that the immoral have created this ideal. They are trying to justify their weakness and their suffering. This ties into slave morality, which is the ressentiment towards those in superior positions. The ascetic ideal asserts that you should not have a will to power, but Nietzsche says this is just an excuse because the weak cannot and will not gain power. Priests and philosophers tend to exemplify the ascetic ideal the most and are therefore the most bad. These feelings of inferiority garner ressentiment.
9.  What is the point of Plato’s Myth of the Cave?

We are born into ignorance and what we perceive is not necessarily the truth. Once the truth is learned it can be disheartening, however life is meaningless without the knowledge of the truth. Plato says that knowing the truth, even if it is not good, is better than not knowing at all.
10.  In Crito, what arguments does Crito offer to persuade Socrates to escape from prison?  What are Socrates’s replies, and what are his arguments (personifying the State) against escape?  

Crito argues that Socrates he would be letting down his friends and others who support him if he did not escape. He claims that by dying he is choosing the easy path instead of fighting the injustice of his trial by escaping. He also says that Socrates has support in other cities and could easily be exiled and live in peace. Socrates argues that it would be unjust to escape and that is the primary concern. He will not be hypocritical and do something unjust because something unjust was done to him. By personifying the state he says that he has a moral obligation and duty to accept the laws and punishments that his State has deemed for him. Socrates has tacitly agreed to follow the social contract in Athens by living there and it would be unjust for him to now abandon the contract by which he was brought up.
11. What is Plato’s conception of knowledge?  How is this different than Descartes’s conception of knowledge? 
Plato believes that knowledge is a justified belief. There must be justification in order for a belief to be knowledge. According to the theory that knowledge is justified true belief, in order to know that a given proposition is true, one must not only believe the relevant true proposition, but one must also have a good reason for doing so. One implication of this would be that no one would gain knowledge just by believing something that happened to be true. On the other hand, Descartes believes that anything you fundamentally cannot doubt must be true; however he also says that anything but the concept of one’s mind can be doubted therefore there is no true concept of knowledge at all.
